Potencias de 10

@)

9.2641 10

1.537+10

7.7484 =10

1.3459 =10

1.7492 =10

5.9159+10

2.0316 =10

3.7133 =10

8.245+10

3.7083 10

Calcule los siguientes cocientes.

3.2625+10

7.7913 =10

2.4315+10

7.5002 10

6.6249 =10

6.4669 = 10

2.6447 10

8.765+10

2.7897 =10

8.8859 +10
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Potencias de 10 (I) Respuestas

9.2641 =10
0.92641
1.537+10
0.1537
7.7484 =10
0.77484
1.3459 =10
0.13459
1.7492 =10
0.17492
5.9159+10
0.59159
2.0316 =10
0.20316
3.7133 =10
0.37133
8.245 =10
0.8245
3.7083 =10
0.37083

Calcule los siguientes cocientes.

3.2625-+10
0.32625
7.7913 - 10
0.77913
2.4315-+10
0.24315
7.5002 10
0.75002
6.6249 =10
0.66249
6.4669 =10
0.64669
2.6447 10
0.26447
8.765+10
0.8765
2.7897+10
0.27897
8.8859 + 10
0.88859
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